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1.Andrea is upgrading from IBM WebSphere Portal 8.0 to WebSphere Portal 8.5. He needs to change the
security, moving it from stand-alone LDAP to federated LDAP.

Which properties file must he edit before he runs the appropriate configuration command?

A. wkplc .properties

B. wkplc.comp.properties

C. wp_security _federated.properties

D. wp-modify-federated-security.properties

Answer: B

Reference:http://www-01.ibm.com/support/docview.wss?uid=swg27016335(search the answer)

2.Which configuration tasks must be run in a stand-alone environment to enable the property extension
database?

A. wp-la-install-ear only

B. wp-la-install-ear andwp-configure-la-complete

C. wp-la-install-ear and wp-prep-vnun-db-secured-environment

D. wp-la-install-ear and wp-node-prep-vmm-db-secured-environment

Answer: A

Reference:http://blog.davalen.com/tag/ibm-websphere-portal/

3.When upgrading an environment with multiple profiles, which statement is true?
A. Additional profiles must be recreated with the upgraded code.

B. All profiles are automatically upgraded by IBM Installation Manager.

C. Additional configuration steps are required to upgrade additional profiles.

D. Additional profiles do not need to be upgraded if the primary profile is upgraded.
Answer: C

4.An IBM WebSphere Portal environment is integrated with SAP and uses a single sign-on solution.
Which option must be imported into SAP if any changes occur on the WebSphere Portal side of

the configuration?

A. httpd.conf

B. LT PA Token

C. sap_sso.xml

D. plugin-cfg.xml

Answer: B

5.Assuming default settings, when a domain database is not available, what happens to IBM WebSphere
Portal?

A. It crashes.

B. Some data can be lost.

C. It cannot access the corresponding data.

D. It becomes unavailable and must be restarted.

Answer: D
Reference:http://infolib.lotus.com/resources/portal/8.0.0/doc/en_us/PT800ACD019/com.ibm.wps.d
atastore.resources.DataStoreMessages.html(see EJPDB0101E)
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6.Bill's company is migrating an IBM WebSphere Portal 7.0 environment to version 8.5.

Which two statements are true for the Web Clipper portlet to be migrated? (Choose two.)

A. The Web Clipper portlet is no longer supported.

B. Bill's company must use the Virtual Web Application Manager portlet instead.

C. The Web Clipper portlet will be migrated successfully by the migration tooling.

D. The Web Clipper portlet must be downloaded and installed manually post-migration.

E. The migration tooling must be configured to convert the Web Clipper portlet to a custom portlet.
Answer: C,D

7.Alice attempts to update her existing LDAP configuration. Her configuration task ends with a BUILD
FAILED. Alice is confident that she is passing the correct parameters to the configuration task.

What extra action can Alice take to complete the configuration task successfully?

A. Run the disable-security configuration task and then rerun the original configuration task.

B. Add the -Dskip.ldap.validation=true parameter and then rerun the original configuration task.

C. Disable Global Security in WebSphere Application Server and then rerun the original configuration
task.

D. Disable Application Security in WebSphere Application Server and then rerun the original configuration
task.

Answer: C

8.In a clustered environment to modify the installation, where should Steve run the configuration wizard
from?

A. The primary node

B. The deployment manager

C. The primary node and each other node

D. The deployment manager and the primary node

Answer: A

9.Lionel administers an IBM WebSphere Portal environment with three active virtual portals: VP1, VP2
and VP3. All virtual portals are using the same realm. Consider the scenario in which page P1 is defined
in VP1 and is set for viewing by the All Authenticated Users group.

Which statement is valid for this environment?

A. Only users authenticated with VP1 have access to page P1.

B. Users that have authenticated with VP2 or VP3 but not VP1 can see page P1.

C. Users that authenticated with VP1 and then with VP2 must re-authenticate with VP1 before accessing
page P1.

D. Users that have authenticated with VP2 or VP3 but not VP1 must authenticate with VP1 before
accessing page P1.

Answer: D

10.Which is a limitation of creating and managing an additional cluster member?
A. Spaces cannot be used in the cluster member name.
B. A maximum often (10) cluster members can exist in a single cluster.

3/4



The safer , easier way to help you pass any IT exams.

C. Each cluster member must be restarted to display updates to the database.

D. The cluster member must be on the same physical server as the Primary node.

Answer: A
Reference:http://infolib.lotus.com/resources/quickr/portal/8.5.0/doc/qpg83abd002/en_us/qportal_ht
ml_wrapper.html#managingroles(See Limitations 7thPoint)
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